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1 () Answer the following questions in short : 4
~ () How many elements in 3x3) determinants ?

il

K|
(2)  Find the value of |_| |‘, i
(3)  Define : Determinant,
(1)  Determinants must be N

(Square / Rectangle)

(h)  Attempt any one :

2
i W 7| |8 7 . 1
(1) 5 476 4| then find x
1A .
. 121
(2) The valua of .
. 3o
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(¢) Attempt any one :

d S =i

(1) Find the value of x, if [-2x O =43.
| x|

2
| a a-+d

(2) Prove that [1 b bE+d =(&-—b)(b—c)(c—a).

-j
| ¢ e¢“+d

(d) Attempt any ane : 5
(1) Solve for ..-r, y and z by using Crammer's method :
2x+3_}'+'§=9, x+2_m’+3:§__3, 3x+y+2z=7
(2) Write thé.. rules of determinants.
2 (a) Answer the following questions in short : 4
(1) Define : Null matrix. ‘
(2) Define : Square matrix
(3) Define : ‘Singular matrix -
(4) Define : .[;;ower triangular matrix.
i () 7
(b) Attempt any one : 9
| 2 30
(1) If A= and B= | then find A4B.
25 | | %
(2) Define : Addition of matrix-with example.
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(¢)  Attempt nany one

, ~1
U} ” rf=[

- 7 4 ind (A+B).
4+ 3 = 3

2
|
3
=
i
—
S I O
I

(2) Find the inverse of matrix A=

[P O
—_— )
o ) —

N

(d) Attempt any one :

i F' " t t " — . r[]ve

that (4B)"' =874,

(2) If A= then prove thll A2 —44-51=0.

RN —
No— 1
)

Hence find A7),

3 (a) Answer the f't;;ll]owing questions in short : 4
(1) Write the- distance formula for two points.
(2) Define : Area of triangle. ‘
(3) Define : .l_nl'.erﬁeclion of two. lsc-th‘.
(4)  Write two propertics of union of sets,
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() Attempt any one o
= facs) and B 14 then find Ao B
(2 Find distanee hotweon  twa o pointns ( . 4) nnd
(2.R)
b
() Attempt any one
(1 Prove that (3. :}‘(5. ,;]‘(3_(,).{]_ 4) are the vertices
ol squanre.
) Prove that (JuBUC=AulBUC).
(d) Attempt any one : <@
5 B <> p
(1 1If A={xe Z/x’zx}. B={x.eZ/x"-—x=0} and
(':{1. 2}. Then prove that.
Ax(B-C)=(AxB) = (A% C)-
(2) Find the area of triangle  whose vertices are
Alx.y-z), B(-x,2),C(x.y+3).
4 (a) Answer the following questions "iu short : _ 1
(1) Define : Mean
(2) The second quartile is ulso known as
(Median, Mode)
(3) Find the range of the datn :
110, 108, 85, 50, 60, 87
(4) “Rout’ mean square devintiops from mean” s
known s _
(Standard deviation / Quartile deviation)
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(hy Attempt any one
(O Find the medinn of the following datn

35, 10, 28, 8, 24, H, 20, 19, 12, 30, 39D

() Find mode of the following data @
306, 23, 14, 11, 23 33, 232 2h, 24, 1hH, 16

(©)  Attempt any one @ 3
(1) Find the mode from the following frequency
distribution :
Cl 10-[15-]20-]25-130-135-]40-]45-
™5 lys {20 [25 [30 |35 |40 [45 |50
Frequency | 25 |29 [ 32 |39 [ 27 | 18] 6 2
(2) Find the range and coefficient of range for the
following data :
X 15120 ]25 |30 35|40 |45
12 116 |18 |20 |22 ] 23] 25
5

(d) Attempt any one :

(1) Calculate the quartile deviation and coefficient of
quartile deviation for the following data :

35, 10, 28, 8, 24, 5, 20, 19, 12, 40

(2) Calculate the mean and standard deviation for the

following data

, 5-110-115-120-125-130-1235-
Class | 0-5 i 2
() 10115 (20 |25 |30 135 (40
Frequency | 7 |11 |12 119 |16 | 7 5 2
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5 (1) Answer the following questions in short :
(1) Identify l'_i:u progression 2%1] 12, 6, 3, .cunens
(2) In A.P. what common
(Ratio / Ijifﬁarencﬂ

3) If a=35 d=2,T7 =23

n !

(4) The formula of Harmonic mean is

(h) Attempt any ohe : . 2

(1) Find the '_'_.1:5lh term of the sequence

1, 5. 9, 13, 17, 21,
(2) The 8th term of an A.P. is 5 and the 13th term
is 25. Find 500 term.

1

(¢c) Attempt any one : 4 3

o

(1) The sum"'"of consecutive leriﬁs in AP, is .
18 and their product is 192, Find the three

i)

terms.

(2) Obtain the sum of following series upto
n terms. 6 + 66 + 666 + 2 up to

n terms. -
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()  Attempt any one : 5

(1) The Arithmetic Mean and Gleomoetric Mean of two

venl numbers are 6.5 and 6 respectively. IFind the
two numbers.
(2) For any two real quantities prove that
. 2
(i) AM x HM =(GM)

(1) AM =2GM =2 HM .
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